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WORKSHEET II 
MEASURES OF DISPERSION 

 
11. The scores of two batsmen A and B in ten innings during a certain season are 

A kw;Wk; B vd;w ,uz;L fphpf;nfl; tPuh;fs; gj;J Ml;lq;fspy; vLj;j Xl;lq;fs; 
nfhLf;fg;gl;Ls;sd 
 

 
A 

 
32 

 
28 

 
47 

 
63 

 
71 

 
39 

 
10 

 
60 

 
96 

 
14 

 
B 

 
19 

 
31 

 
48 

 
53 

 
67 

 
90 

 
10 

 
62 

 
40 

 
80 

 
Find which of the two batsman A, B is more consistent in scoring. 
Xl;lq;fs; ngw;wjpy; kpFe;j rPh;ik cila tpisahl;L tPuh; ahh; vd;gijf; fhz;f 

 
 
12. Following are the marks obtained by two students A and B in 10 sets of examination. 

A kw;Wk; B vd;w ,uz;L khzth;fs; 10 Njh;Tfspy; vLj;j kjpg;ngz;fs; gpd;tUkhW 
nfhLf;fg;gl;Ls;sd. 
 

Marks 
obtained by 
A / A ngw;w 
kjpg;ngz;fs; 

 
44 

 
80 

 
76 

 
48 

 
52 

 
72 

 
68 

 
56 

 
60 

 
64 

Marks 
obtained by 
B / B ngw;w 
kjpg;ngz;fs; 

 
48 

 
75 

 
54 

 
60 

 
63 

 
69 

 
72 

 
51 

 
52 

 
56 

 
If the consistency of performance is the criterion for awarding the prize, who should get the 
prize? 
kpFe;j rPh;ikahd jpwik mbg;gilapy; ntw;wpahsiu Njh;T nra;jhy;> ahh; ntw;wp ngw;wth; 
vdf; fhz;f  
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13. For a distribution the coefficient of variation is 25 and the value of arithmetic average is 35. 
Find out the value of standard deviation.  
xU gutyf;F khWghl;L nfO 25 kw;Wk; vz;fzpj ruhrhp kjpg;G 35 vdpy; jpl;ltpyf;fk; 
fhz;f 
 

14. The mean of a data is 25 and its coefficient of variation is 18. Find the standard deviation. 
xU jutpd; ruhrhp 25 kw;Wk; mjd; khWghl;L nfO 18 vdpy; jpl;ltpyf;fk; fhz;f 
 

15. The following figures relate to wage payments in two firms A and B. 
gpd;tUk; glkhdJ ,uz;L epWtdq;fspd; Cjpaq;fSld; njhlh;GilaJ 
 
 Firm A Firm B 

x  75 80 

  13 17 

Which is more variable? 
kpf mjpfkhf khWgLtJ vJ? 

16. The following figures relate to wage payments in two firms A and B. 
gpd;tUk; glkhdJ ,uz;L epWtdq;fspd; Cjpaq;fSld; njhlh;GilaJ 
 
 Firm A Firm B 

x  100 90 

  25 18 

 
Which is more variable? 
kpf mjpfkhf khWgLtJ vJ? 

 
17. Find the standard deviation of first 10 natural numbers? 

Kjy; 10 ,ay; vz;fspd; jpl;ltpyf;fk; fhz;f 
 


